RS

The number of women who have become Chief

Ministers of Rajasthan till date as on 1" September
2024:
Choose the most appropriate answer from the

options given below:

| R 2024 7 o™ ¥ et e Afeet
geEt & &
mﬁmﬁamwmaﬁ:

/(A) 1 (B) 2
< 3 (D) 4

(E)  Question not attempted / 3Tafd ¥4

Who among the following was appointed the
deputy Chief Minister of Ra_]asthan in December
20237

Choose the most appropriate answer from the
options given below:

(A) Gajendra Singh Khimsar

(B) Rajyavardhan Singh Rathore

(C) Bhajan Lal Sharma

(D) Prem Chand Bairwa

(E) Question not attempted

frefafiaa 7 & fRa fegm 2023 9, um:en?%
m@uﬂ%wmﬁwmww
ﬁmﬁffﬁﬁﬁmﬁﬁnaﬁ?mmmaﬁ
(A) T fiiE Ramat

(B) Usgadq iz TS

(C) e el T

/D) ﬁwae—eéﬁr,
(E) it yd

Select a Rabi Crop grown in Rajasthan:
Choose the most appropriate answer from the

options given below:

~AA) &

(A) Barley (B) Bajra

(C) Maize (D) Rice

(E) Question not attempted

T i T el Tl e # i,

et e 3 & st Suges s
s (B) =T

©) =T (D) 9Ed

(B) rqafa gy

wtalctich,

iven below ar€ two statements:

G‘.
statement () In Rajasthan Pabuji is Wor

as the God of Camel.
Statement (1): Pabuji is credited to be the g

bring Camel to Marwar.
n light of the above statements, choose the
answer from the optiong gn

hiped

appropriate

below.

(A) Both Statement (I) and Statement (1) g,

- correct.

(B) Both Statement (I) and Statement (1)
incorrect. :

(C) statement (I) is correct but Statement m
is incorrect.

(D) Statement (I) is incorrect but Statemem‘

(I) is correct.
(E) Question not attempted

#2 drea e E:
Fo, (D) T & ISt Sl 2T o ST F w9

i1 26 STl 2
o (IT): HTS & G S A Bl 47 TS

2l
Syt St 3 ST §, e R e e 7 @
naﬁammwaﬁl

) m(x)aﬁrm(n)aﬁaﬁél

(B) e (I) 3T e (I1) FHT TTerd
(C) o (1) Wt & fehT e (IT) TTere 2l
(D) U (I) e & Qfeh 9 (1) Fel e
(E) Imiayy

Rulers of the princely states have treasured the
accounts of their valour, victories etc. written by
the chroniclers. What are these accounts called?
Choose the most appropriate answer from the
options given below:

(A)  Khyat (B) Vachnika

(C) Dawavait (D) Vaat

(E)  Question not attempted
Pl 3 e 3 aros ftea, feroedt 271 7 a"”‘ﬁ

T SR} 2w ford st A1
81 ¥ It by o 3 T 27

Rt e & & warfares gage ST
B) a%rﬁm

D) am

C) Iy
(B)  afa ug

R ——— httpsHEMelOmdie
. ‘ il J  Contde
[
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6 Which dialec

Jhunjhunu,

Hanumangarh,

Ganganngzm‘“ﬁ,

Choose the

options gively below:

(A)
(B)
©)
(D)
(E)

Malviyy

Shckﬁﬁi\'uti
£\

M ewati,

Wagadi

Question not attemipted

Uis spoken in the areas of Chury,

Suratgarh - and

(RF I |

‘f’.?"“‘ appropriate answer from the

T, L, TG, g e s & A
- el ate s

(A)
(B)
©

W¢~‘i
JEEEY

-

Hardt

(E) WH%T

pil 3 8 eravfives o S

(48
™"

7 In Rajasthan; ‘Sanjhi® is made during the
Shraddha }Tf&‘l{rxhu (fortnight) before  which
festival? 3
Choose the most appropriate answer from the
options given below:

(A) Dussthra
o's)
(B) Holi vy
(C) Diwalf®
(D) Pong}llé
(E) Qucs‘thn not attempted
e fo e & Ve T R Wi st
srrdr L
frefafad éﬁ?ﬁﬁﬁwﬂmmmﬁz
:,"4'}
(A) 35|3(|U.‘
el
© ks
(D) qITe
(E) TR W
oI’Q‘Xlzl *

3

9

10

cceives
Which of the followlng region$

highest ralnfull in Rajasthan? (rom the
Choose the most apprppriate @
options glven below: ™

(A) Rajsamand 0\!) Churu
(C)  Nogour o Bikaner

()  Question not agtempted SIS
worer 3 fe 3 Q@ g'.;h-m A wratfirs T

WY

v ffere Rt - rerffis 3G T T

ANy T NI J%.'l

() =i (D) N,
(B)  orgafa g)")

In Rajasthan on whicﬁ}ivcr is the Gandhi Sagar
Dam located? N

Choose the most (rpf;)?;priarc answer from the
options given below:

(A) Saraswati ¢(B) Banas

(C) Chambal [tD) Mantha

(E)  Question not nltgsnptcd

Toreer iy arR e R T W R g
frferfa foreren ﬁﬁ‘mw'aiiaa; JUgH Wﬂ'}
(A)  wredt ¢(B) ™
o EES (D) wT
E) 3raia i
(E) -
e

In western Rajasthamthot dry and dusty winds

start blowing in sunggzers which are known ag

e v

Choose the most appropriate  answer from th
, e

options given below: 4

(A) Kaal Vaishakh (B) Mavath

(©) Loo %) Monsoon wip, ds
(E)  Question not aftempted -
wfenft e 3 Mg § miyrey

AR
(A) FEAME  CB) uEs S

s D) TRy .
(E) orguiawy T

B routalctiich s
1 3 . 4@ ] \JLUU)’



https://www.geniusjankari.com

11

12 .

e THEW d.

Which of the following is not a part of human
male reproductive system?
(A) Seminal vesicle (B)
(C) Vas deferens (D)
(E)  Question not attempted

ﬁnﬁmﬁﬁa‘hmwmmﬁwmmm

&

(A) IFRRT
(C) YphaTEh (D)
(B) 3rgaia W

FFallopian tubes

Testes

LBy Ao srferant
KA

Which of the following is not a type of teeth in

humans?

(A) Pylorus (B)
(C) Incisors (D) Premolars
(E)  Question not attempted

Canines

ﬁt{%ﬁaﬂffﬁaﬂw-mngﬁﬁﬁai?ﬁwqmmqﬁ
c)j\-)"wsﬁf(ﬂ (B) WTH
(C) aH (D) o

(E)  STgai o4 .

From the following list, select the organs of the
human digestive systen:
b.  Trachea

a. Rectum
e Oesophagus - Urinary bladder
&: Pharynx

Choose the most appropriafe answer from the

options given below:

(A) b,d and e only (B)
(C) ac and e only (D)
(E) Question not attempted

ﬁw%@ﬁifﬁﬁﬁm%qmﬁi%ﬁwﬁmw

a. ﬂ?TTWT‘ b.. fem
AR »

c and d only

aand b only

S ic:
3 R e fyspedt 1 @ watfas Jugew AT
(A) Faerb,d3dRe (B) a3 d

©@ aﬁﬁa,caﬁtc%%ﬁanaﬁ(b

(B) Irgaia v

 OPQ-XI2] x

h&ps—#t—metemé@

14 . Which of the following is true about CARI

freafer

PRIYA?

. Choose the most appropriate answer from the

options given below:

(A) Commercial Broiler Chicken

(B) Dual purpose Chicken

Commercially Brown Egg Laying Chicken

©)
v (D) Commcrcially White Egg Laying Chicken
() Question not attempted

mﬁﬂﬁ-ﬂrm‘&:ﬂﬁm*%ﬁa&ﬁw

i
Wﬁmﬁﬁmﬁw%mgﬁ:
(A) arforRea siraer gfirat

(B) ek gt aet gfitat

©) arforFaeh ik i 3% aedt gfifaf

/(ng;r ST 94

15

ol

Which of the following pair of poultry bird and ’

acteristic is correctly matched?

its char
answer from the

Choose the most appropriate

options given below:
(A) CARI DEBENDRA - Commercial White

Egg Laying Chicken

(B) CARIPRIYA- Dual Purpose Chicken
NALI - Commercial Brown Egg

(C) CARISO
Laying Chicken

(D) CARIBRO VISHAL - Dual Purpose
Chicken

(E)  Question not attempted

o # & e e T

(D)

(B) i ¥ : Contd
Ealatiich .

tarstoay
|
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Which of the following pair of poultry bird and

is a
ath Rajastha“) is

18  Vijaya Stambh (Chittorg
its characteristics is not correctly matched? storied pillar made of: te answer from the
riate
Choose the most appropriate answer' from the Choose the most approp
. ) options given below: . Marble
options given below: (A) Red Sandstone and White datone
(A) CARI SHYAMA - Improved Indlgenous (B) Red Marble and White Sands
Fowl (C) Only Black Stone
Stone
(B) UPKARI - Improved Indigenous Fowl (D) Only I'{ed 0 d
. (E) . Question not attempte eEI)
(C) HITCARI - Improved Indigenous Fowl o it Mt R v (REASTS,
(D) CARIBRO MRITYUNJAY - For hot and forerr s 22 st
humid region Pl ferpedt 3 & wrafferes 397G
E it ot 4 (A) S ST TR SR TG W
) QUBS'IOTI not attempte LB A T ra AT Te
Tt 3 & o spagpe waft ofi sweht fRtwar (C) et Tl Yot
SIS 1 e firerm 72t fpar o (D)  Sarel TS Yot
Pt forredt # & waiforer suges ot (B) Tt .
(A)  F v - I e Ot 19 In which month the festival of Gangaur 1S
/(B) IUFHT - =1 2975t T organized?
N 3 > Choose the most appropriate answer from the
© mﬁ options given below:
(D) %ﬂa‘rw rrﬂfaﬂtanz&%sr%%q (A) Falgun (B) Chaitra
(E) -3Ygafa u (C) Baisakh (D) Shravan
l i (E)  Question not attempted
_ oL ) ORI <k SRS 3 ST forer e 7 Sy 29
17 = Which of the fo]lqumg is a grazier/shepherd of frafafien et § 3 waff S a_:r
Rajasthan? "*7’ (A) wEH —B) A5
Choose the most approprtate answer from the © éﬂ'r@ D) >
(E) gufa wx
options given below : S
(A)  Gaddi K 20 A number of veiled women dancers balance up to
seven or nine brass pots on their heaq,
(B)  Dhangars ' form is called: This dance
(C) Raikas 5 Choose the most approprigre answer frq
(D)  Gujjar Bakarwals; options given below: m the
(E)  Question not attempted (‘g) Ghoomar‘ (B) Kalbelia
P 8 & e e o e ) oenTol D) Bhawy
. ] uestion not attempted
Frafafas Rt ﬁﬁmrﬂi‘@ UG WG WWWWWWM :ﬁ
A) T T Hgferr T e et %. ‘ﬁﬁv
(B) WA BT & : ﬂ?‘ﬁ
ey T fererferfRera faremedt o T
. (A) . w ®) i,
(D) TR (©) Wwawt oy g
(B) IERawy (B) orgafmws o
OPQ-X12] * 5
B routalctich, [ Cont"
, httpsHmefomedigitalsiuely Ty
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e e

Which dance is performed by the Bheels in
Mewar? |
Choose the most qppropriate answer_ from the
options given below:
(A) Gavri Dancem (B) Kalbeliya Dance
(C) Bhawai Danc8y (D) Ghoomar Dance
(E) Question not"é'(’cempted
Farg 7 il 7T 1 T foRaT ST 87
fafafaa ﬁﬂﬁﬁwaffﬂa?wgﬁmgﬁ:
TR T (B) sheriferdl I
(€ waEya (D) TRIA
() Iaia e g )
™M
22  Where is the ‘Tﬁfl‘ura Sundari Temple’ in
Rajasthan located? S
Choose the most dppropriate answer from.the
options given below:
(A) Banswara (v} (B) Churu
(C) Sikar [~ (D) Bikaner
(E) Question not(aq.?}empted
fafafad ﬁmﬁﬁwaﬁﬁm‘ Fugh S IA:
/eA) ggaer o ® I® o
©) (D) HR
() FIAE@TH oy
[~

23 Gogaji’s (afolk de:ja in Rajasthah) father’s name

was: (&)
Choose the most Eggpropriate answer from the

. - _¥26)  The Toll free "Telephone num

s

options given belows
(A) Bachehal Singh (B)

(C) Arjan Singhgry (D)
(E) Question nol attempted

Zewar Singh
Surjan Singh

“The cost of food thali for poor and needy under
‘Shree Annapurna Rasoi .Yojana’, a welfare
scheme of Rajasthan (as on Séﬁt@mber, 2024)is:
Choose the most appropriaté;énswer from the

24

options given below: {7
TorETT Y T HETT AT F=qurt @
AT, 3 ST TR awﬁﬁ Ao st aredt
1 i (Rt 2024 3 AR ot L4
freferfad feed! 3 & @i Iuge ST

" T8 B) T 22
© Tl (D) ?12
(E) Question not attemptedi/ffg?fﬁﬂ aq
' {7}

25 ATAL Sewa Center are locat‘?::«a:i in Rajasthan in/
at: § ;»3
Choose the most appy:igpriatékénswer from the
options given below: ‘v ;

(A) The capital of Rfl_iasthaqn{ y
(B)  All major cities of Rajasthan
(C)  The Gram Panchayat le've;l
(D) All the courts. 5

~(E) * Question not ap_té__ﬁpted: i
e i vz e g et o f
et frred i § Farffares Iagw AU
(A) T R TG A
(B) T b af v el

=

/‘e) THYERA L, . D
i o - .' . #y

@ AR gy
() gaf@yd o e
.

ber for ‘Child

" Helpline’ is:
Choose the most appropria

options given below:

n?,;_fnswer from the

iy

memﬁ%rvﬁa% aan) o fuarsft &1 1
qT: (9} — :
ﬁnﬁf@aﬁmﬁwﬁaﬁmmgﬁ mfﬁ rﬁﬁwf@ma!ugmaﬁtgﬁ
A) TEeafiE o B) FRE Y 1890 ®) 1095
ey wehife (D) TR © 112 _(Dy 1098 :
E) USRE) (E) Question not attempted / aqgﬁfl’a B
. oPeX12] 6 | [ Contd..
i itpsHi-re/Omdigitalsiuely
]
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27

28

OPQ-X12] g

Which Festival of Rajasthan is celebrated on 14™
January, on the day of Mnkursankraﬁﬁ, every
year?

Choose the most appropriate answer from the

options given below:

(A) Kite Festival

(13)  Colour Festival

(C)  Ballon Festival

(D)  Rose Festival

(1) Question not attempted

et o uf ad 14 SHadt, vl 3 o mm

ST Gl ST ot =9 hfe

frmferfiaa fammedt o @ waffae sugw ST
/(m/rﬁiﬂma

(B) w3

(C) eI S
(D) T[T Ieqa
() orgafe wu

CAZRI, a rescarch institute in Rajasthan, is
working on the issue of:
Choose the most appropriate answer from the

options given below:

(A) Arid ccosyslcxp

(B)  Space research

(C) Camel research _
(D) Industrial rescarch

(E)  Question not attempted

FSH (CAZRI), TSEAH &l T 0 Teae e
faua w e a2
Frfaftaa faeredt 7 & Taffaes sagw s T4:

(B) el qiay/srTHaT

(€) I IrpEg™

(D)  venfie srgea™ . )
(B) orgafwawx

7

29

30

31

: routalctiich s,
1 3 . 4@ ] \JLUU)’

wa
Choose a major issue which has al

than
the agricultural development of Rajas
Choose the most appropriate ans

options given below: .
ular rainfall

(A) Unpredictable and irreg
(B) Scarcity of metals and minerals
(C) Insufficient land for agnculture o of
(D) Lack of interest by entrepren€t
Rajasthan
(E) Question not attempted
oo & 8 o e 7t 1 =t T
erear 5 sy e s R Lo
Frfefam e i 4 wrarffires U I L
< TR s stffd aut
(B) g A @ISt AT FHT
(©) aﬁs ¥ e sty yiw
(D) T 36 sttt i we 1 HHE
(B) iE ¥y
With which occasion is the Kachchhi Ghodi
dance associated?
Choose the most appropriate answer from the
options given below:
(A) Teej (B) Marriage
(C) Holi (D) Navratra
(E)  Question not attempted
Feal el T fore STaeR ¥ Haifera 22 ESN
e fosredt & & watfire suges st
S (A ®) fEw
Oyl (D) o
(B) S ¥

On which occasion do women of Rajasthan v éa
“Lahariya Bhaant Ki Odhni?” ]

Choose the most appropriate answer from th
options given below: ¢

(A) Holi (B)  Teej

(C) Diwali (D) Birthofg child

(E)  Question not attempted

e < nfgard fea mw--m%
e g 82 éﬁ
fFrfafaa faaed § & Taifre s, -
(A) wIeft R
(€) feareh (D) Ry ey

() orgafe s
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32 In wh(i'c%] folk dance of Shekhawati and Kuchaman | 35 A shopkeeper gives a discount of 8% to his cusy 3¢
are tllc_,‘mstnnnents dhol or drum used? tomers and still gainsrfb%. What is the marked
. . ‘
Choase) the most appropriate answer from the price of the article whpse cost price is T 4607
optiohiSgiven below: T AN T 3 F1 8% &I gE 4T 31 for '
(A) . Dandiya Dance it 20% TS FHALTE a5 & sita o FT ‘
(B) (Kachchhi Ghodi Dance 3 ik T 4602
© c:Agni Dance Eg) :5633 ‘%‘f :663
) T55
D) GhudlaD ! |
D) udia Lance (E) Question not attempted / 3T§Hf{7’ pES {
B (.!C?uestlon not attempted |
™M %
NICIE|CHC I FAHA FfraasT@A@aargd | 36 Who among the folloying is the first | aralympi- |
AT T ST e 27 an to win two Paralynipic Gold Medals? { *
ﬁmﬁﬁmﬁﬁmmaﬁ' Choose the most appropriate answer from the :
(A) ¢ gﬁ‘gmm options given below: ‘
/9/3( (=t a9 (A) Sumit Antil  ~;
(©) Wﬁﬁ . (B) Nitesh Kumar ‘
D) TeeT © II:evenccllra JSllaj:hziria ‘/‘
() OFRFaiaas L |
o= (E) Question not ati"ﬁ mpted ‘
5 A h%ﬁke : i FEgafFa < 7 ved J7 & @
A shopkeeper purchases som s at ; e S
2 10671 \I'D oy lif ; e 5 © ; 5 4
R ok Lopdmany apples for Y 60 should be sold fFrefofad fawedl 7 9@ S9gw ST L
; e, to gajn 64%2 (A) it sAf=<ae (‘:'B) A FaR |
e 2 o R Y T 49 T 100§ 41 F 1 § R Sz EEr (D) = fie
64°08NWT5F?%13@? Goﬁﬁ*ﬁﬁaéa% ®) SFFTRA TH
) /\\ :
- |
‘ )4;, M‘L ®) 13 37 Shn Rajyaf'z-m-ihan Sifigh Rathore, sportsperson
J?) o (0) 4 D 15 turned politician, excélled in which sport at /)
1 -al?
,i (E) estion not attempted / STARA T Olympiclses |
KQ \'7 ‘ = Choose the most apgfrpriate answer from the
Q 1 g1 “*! options given below:—{ 40
\‘s . On glmo an article for < 230, a shopkeeper (A) LongJump N
g /G earn$2 profit of 15%. What is his profit or loss (B) Volleyball -~ © |
t// \V percentage if he sells the same article for < 210? (C) . Shooting
| /{g PN g?%pmf it (B) 7%loss (D) Hockey ™M
’ 9, (C) o 3 profit (D) 2%]loss (E) Question not agempted
‘ % (E) (vQuestion not attempted st asaadA {68 0373@ faaTst § TSHITOR T, !
{* L TwmIgFI ’}quﬁq@ml\oom TS O i S T SoHE WaR A 82
i %mgﬂmg‘qﬁﬂmmﬁ?’mwm% et el 3 QT 390G ST .
4 5 T AT R Wi (A) e (N ‘
s A - (B) adI=E o /
.!—- y, ’ : ﬁmm-j} g-;fi?n
kS = D) T
(E) Swui@ ws '
OPQ-X12] g €) JgaRass | OPQ-
[ Contd.-
l | https:/fme/Omdigital studly
4@ ] ot.uuy :
e a3
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38  Who among the following was the first Governor 41 When 36 is added to 607 of # nurbers W & " {#;/
of Rajasthan? same number, Then that nurmber is: i i
Choose the mostdppropriate answer from the 1ot Fopely whent 3 o i 36 A5 A b P o
options given be 51 e s wYeft ) oy 7w e s rﬂ 3
(A)  Shri Gurufiiikh Nihal Singh ('}\) 75 (B) #0 m 6/‘ f

- (B) Raj Pramu'_' Sawai Shri Man Singh / (1) 160 e iﬁ
' (C) Dr. Sampurhanand (E)  Question not attempted /¢ “gaf'” A "”,ﬁ‘w "
(D) Sardar Shr‘lzglukum Singh = in an "V
(E) Question not attempted 42 - A student has to score 407 marks 10 pass i A:
.ﬁﬁ%@ﬂﬁ@ﬂ?&lﬁﬁ?mw#v}? examination. He gets 30 marks ahll failed by f d
ﬁmwgmm _f.ﬁ marks. What are the mammmngmf"k“ of the
(A) ﬁmﬁﬁﬂfﬁ% b 33": examination? ™
®) mmuﬂ‘g " / U T ) ol i Fefmd 2 % f"rLf“”/ ol "f";
ey ¥ wiv \p/ mﬁlaﬂsoarﬁiﬂ?ﬁﬁrvzﬁfﬁrm A 10;2
5 s E,Wﬁ'@'\ \ By &, @ ubvar # caferran 5% 40 57 o /;.}
(E) &?ﬂﬂﬁﬁfp' ﬁ w2 o mntf‘} - “: /7/&'(
A /(,-’2 %@3/125 (®) 140 W

39 ind a single d%%:ount equ\l":ralent to successive 5, (2} "Questiommobayenipted)/ H(?;f'? 4
discounts oflo%?m% and 25%. ""‘a/vr R —— . f’{?}\w hich i
- 20%@25@@%%%@2@5%?%72 . elect the fo an.cc 0 . 'ajas‘(‘;;‘n‘ whic '17.4

J popular for entertainment and raising social
@ < "P 9\’ "’;L v issues. =
(A) 55% ,(,B) 4% ' : .Choose the most appropriate answer from the
/}Q{ 46% ™M D) 48% " options given below: %
.- !
(E)  Question r{%attempted/ sy (A) Kathputli dance g‘)
gg (B) Giddha 3!

40  The price of a g:_c_){nmodity decreased by 10% (©) ** Kuchipudi fil‘\ R
which enabled ashopkeeper to purchase 8 kg (D) Garba o~
more of it for Rs(;%600. Find the reduced price (E)  Question not attempted =
per kg of the commodity. TSEAT F 34 A T3 F =77 Fifqu 5
ferelt g &t Fmg F 10% F FH A W ﬁwﬁm@mm'«rﬁmﬁm% !
SHFAR 34 g 7 8 fopum @aferas w6 T 3600 & ﬁwﬁr&qaﬁﬁﬁémfram%,m
Eﬁamnﬁwma‘ﬁ%aﬁﬁzﬁruﬁf@ FEgAe T :
& 31 Fifvrg 0} B) firar cu

TS0 oy B) 48 I{AT/B‘ ©) Ffag .
© %45 O (p T4 % ’\‘?MMD) uic) g
(E)  Question not attempted/ 3TafE 99 e (E) safawg

OPQ-X12 | * ',\é ' f_ﬁ'ypd' .

) 7( bl by 1 s - l Congy

|4 & \JLUU)’

eey I
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44 While reciting the Phad of Pabuji, a musical . On compound interest a certain sum increasest,%
instrument is used called_____ 10.25% in 2 years. The rate of interest per annuy
Choose the most appropriate answer from the " K is:
options given below: ’Au\“ ,-~/ mﬁ:m W@ﬁﬂmuﬁm T3t 10, 25%%
(A) Jantar (B) Moochang ¥\ */, oY, et B e o s '

‘ (©) Ravanhattha (D) Ektara Y& \'\:ﬂ‘_\\. (Ay 4% /QB‘)/ 50
(E)  Question not attempted b . (O 6% " (D). 8%
I % WIS M |, o arer 9 @ v R gt (E)  Question not attempted / 3T I
SR, E_ hEear el 27 ' |
ﬁﬁ@mﬁwﬁﬁﬁmmwaﬁ 48  The monthly incomes of A and B are in the ratio
(A) W@ B) T 4:3 and their monthly expenses are in the ratio
. et (D) Tehdma 3:2. If each saves ¥ 800 per month, then what isr
2 (E) oTuiaws the sum of their monthly incomes?
AaﬂtBaﬁrmﬁmmzﬁm@mﬁm%aﬁrm
45  RIICO has set up a Japanese zone in an industrial Hfdeh @ ol YT 3:2 21 9l v =afh T 800
park in: SfeTE ST B a‘raﬂaﬁrmﬁresmwu‘mm%?
Choose the most appropriate answer from the (A) 48,000 //PB’)/ < 56,000
options given below: £ \?) "f”::; (C) 84,000 (D) 96,000
(A) Mount Abu Neemrana \_ - 0,/‘ (E)  Question not attempted / ailfﬁﬁﬁ 949
(€) Jodhpur "~ (D) Dholpur g‘; £ ‘
(E) Question not attempted * |.49 . Which of the following is not a reason for water
1 (RIICO) 3 T ST & (1), i [ ve scarcity?
o1& T wefya forar B . Choose the most appropriate answer from the
Wﬁmﬁﬁmmw@, K/}’ ‘ options given below:
(A) WIS I HaAr il ry) (A) Rise in population
£(C) T:ﬁﬂg‘( (D) gﬁagt “‘1‘/// .f, (B) Deforestation
(E) SaRa s |, (C) Space research
‘/ 1 (D) Global warming
46  What is the compound interest on T 15,625 f t9 (E)  Question not attempted
months at 16% per annum compounded quarterly? forer & @ 8T et ot Bt TR T T %'7
,\L o T 15,625 0 16% S 1 70 R SR ﬁmﬁﬁﬁﬁ@ff%w@ﬁmmﬁ
"ot wﬁﬁmaﬁwaﬁﬁ{wm9mg%mm (A) SEEEH &
‘ oL o 76 B), FHH -
\'> 51 Y 21861 ®) T 1941 _ it STEIH q’ri
/"‘ 1951 (D) T 1961 S (D) Afre 0T %
3 a4
\5 ®) Qutonrer agfmptedéiﬂﬂﬁagwa 0 ;‘}3 (g)ru ﬁ;fﬂ -?,ZLJ ,’r:'? _d Contd...

T

OPQ-X12 I s

50
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. 1low
. e aikas 0
50 Support money for big cattle (big govansh) under, | 53  In which of the following seasons R :

cattle majntained in cow shelters registered by

cultivation practice iggheif life?
the state fovernment is enhanced from October '

wer from the

2024 as. i‘%i Choose t.hc most apptopriate ans
Choose the .most appropriate answer from the optiond given beloviggy
options given below: (A) Monsoon S
(A) ?44/day (B) I 54/day (B) Summer ¢
},)A T 62/day (D) ¥ 68/day ©)  Winter
(E) Question not attempted . R
(D) Throughout tl}qyear
mmmqﬁaﬁmﬁmm%
ted
IIIH AT 2024 ﬁ‘ﬁmmn‘qﬁ;ﬁm"r% (E)  Question not dttempte ﬁﬁ%ﬂ -
Pt e & wafares g s T S S S P
L] L] 3
(A) ?’;“fﬁ:r . B) Tsake  wa® =) .
/&Y ? ? zﬁf&q - D) s/ ﬁw%%aﬁwﬁﬁﬂﬁ%wgﬁwﬁ%
R Sk ‘ tA) O
51  Which of the following regions of Rajasthan B) ey _
- shares its boundary with Pakistan? © ud i
Choose the most appropriate answer from the - (;2
options glven below: g )D)/ W o0
(A) Blkaner (B) Pali ' (B) i@y s v
(C) Churu (D) Bhilwara , ' 2
(E) Quesuon not attempted %; 54 Banjarés, a well-known group of graziers were
?ﬁiT W;?q S5 found in the villagegaf ! .
rer 37 e e e v a——
ﬁnﬁ«rﬁmﬁm‘rﬁ@maﬁammwaﬁ Choose the most appropriate answer from the
M fwmr (B) et | options given below?) ‘
©) %r{a (D) ieareT (A) Rajasthan an@ttar Pradesh o
(E) 31:“"53' Rl (B) Assam and Ndgaland [
1
52 . Which of’ the following regions is located in the (C©) Goaand Mahamshtra : ‘h
southem most part of Rajasthan? (D) Karnataka an@kerala o g 5
Choose the most appropriate answer from the () Question not attempted v 4
options given below:
SICINEED] SIHHET :
(A) Churu (B) Banswara 8 “’E“‘ﬁﬁ . ¥
Tt Fqmamr . O e
(C) Ajmier (D) Rajsamand . 545'
(E) QUestlon not attempted mﬁm%m%mﬁ
Fretferfiae 3t - dr T 35 wrrd afeoy ey T st v T
ﬁﬁvﬁr%m (B) * 3rW AT ARE
ﬁ%ﬂﬁmﬁﬁnﬁﬁwmmgﬁ o, s E:
) w5 ABY e D) afem ST
(©) 3R (D) TEHE o
(B) rufawy | (B)  rgaf@ww
0PQ-x12 e n

. . ile
I ¢
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Two plane mirrors meet at right angles. A lighy

§5  Pastoralists/shepherds primarily depend on which | 57
ray is incident on one mirror at an angle of 30°,

59

of the following activities for their livelihood?

Choose the most appropriate answer from the What will. be the angle of reflection from the

options given below: second plane mirror?

(A) Agriculture Choose the most appropriate answer from the

(B) Industrial work options given below:

2 wae < T gE @ a1 e 8w
(D) Fishing et Y FRTOT TRt ador 1@ 30° Fyor T ATafra vt
(E) Question not attempted il E.\Gl‘( quaet ador § 3aw qUEds @IV T AT T

Yehfrew TR @R EET ¥ ot am
sy ¥ forg frafifes § & e @ folt ﬁmﬁ«rf@ﬁﬁzﬁaﬁﬁﬁmmsug?ﬁmgﬁ;

(C) Animal Husbandry

T (A 30° 8] 60°
B Rredt § & gatfis sug® S () 90° (D) 120°
&) T (E)  Question not attempted / AR T
(B) i '
ey I 58  Match List-I with List-IL:
(D) TS TR List-1 List-11 ‘
(E) gaia Shape Type
: a. 0 I Convex mirror
56  When a ray of light incidents normally on a plane b. ) [L. Concave lens
mirror, the angle of reflection is - c. ( II. Convex lens
Choose the most appropriate anSWer from the d. ) ~ Iv. C 0h EAvE mirror
options given below: gefi-15h ey gEft-11 =6t e T
@ o | et -
(B)  Greater than 0° but less than 90° AT T&R
©) 90° ) a O I It quoT
" (D) Greater than 90° by X \ L A
(E) Question not attempted . ( \ . 3
vy ador T S e ST <t FoRT S STt d.. .} V. I
Breft & < quada Y01 &1 {7 BN TI- Choose the most appropriate answer from the
frefafaa el Ta Wﬁm?@mﬂi options given bck‘m": :
Ay o° 7 ﬁﬁqmﬁmftﬁaﬁﬂ?mﬁmgﬁ:
,%;)/ 0° & aifRre T 90° & T s (A) a-ll, b-1Lc-1V,d-1
| B‘( a- lI{!,ﬁl)w-_l_\’...C..-. Ld-11
Q) :20. | © a-1V,b-Le-TLd-TI
(D) 90° & s @) a-ULb-Te-Ld-1V
(E) Ww (E) Question not attempted / :ﬂ'flﬁﬂ I
OPQ-X12 | S - 12 [ Contd...
' https:-rmelOmdigital stuely |
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0

60

61

Animals which Iny opgs are enlled:

Choose the mose appropriate answer from the
options given helow:

(A Viviparous animals

(M) Oviparous animalg

(©)  Ovoviparous animals
(D Wvitro fortilised animals
(1)

Question not attempted
SR AN Y St o vy ey g
Festferfre forme 3 waifers Iuge S

(A) - Tsflessre sig

(B) 31"3!131?{731@

(€) St sfg

DY wrt fdfee sty

(1) srale wy

Identify the oviparous animal,
(A)  Butterfly (B) Cow
(C)  Dog (D) Human beings
()  Question not attempted
ST St ) wwr Y|
/(m/ foaeh - B) T
(C). (D)  wg=r
(E)  sryafa wa

Govardhan Asrani, popularly known as ‘Asrani’
is famous as a:

Choose the most appropriate answer from the
options given below: ‘
(A)  Music Director (13)
(C) Actor (D)
(E) (._)ucslion‘nul attempted

M staTH St o st e fagma 3, 9w

Politician

Player

)\%:
Frerfefua faaed § § waifie sgem s g,
(A wiafdms 1)  uslifey
}é)'/ETﬁﬁﬁT (D) faerdh

() At

OPQ-X12 | 2

13

routalctiich 2
httpsHt-melOmedigtalstuely

. le
62 The Late Jagjit Singh was famous for which stY
of singing?
Choofp ﬁle most appropriate answer from the
options given below:
(A) Soprano ;
(B)  Western style singing
(C) Tenore
(D) Ghazals
(E)  Question not attempted .
w1, oft sTfter i e dieft & e 3 fore i €2
P et & ratfores g S -
(A) @
(B)  uferdt fieft e
©) &r
(E) it gs
63

Who among the following famous Rajasthani
actor played very important role in National

Award wining film “Paan Singh Tomar?

Choose the most appropriate answer from the
options given below:

(A)

(B)

(©)
(D)
(E) " Question not attempted -
ﬁqﬁfﬁmr‘iﬁmmmﬁ
TERR ¥ g ey <o
weeaq sfiver gy
:ﬁixﬁquﬁmaﬁfiﬁwﬁ

Karamveer Choudhary
Sahabjade Irfan Alj Khan

. Goverdhan Asranij

_ 'Kiku Sharda
:ﬂﬁﬁm?méh :
T R A =

FHEIRG,

v

[ COnm

Aeee
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In how many years a certain sum of money will

become four timesSF itself on simple interest at a

rate of 20% per an&m? |

(A) WYears ) (B) 12 Years

(© 15Years Y (D) 20 Years

(E) Question no’f'llttempted

i awl A @ YR 20% THTT AT

SIS Y Y A R ey

(A) 109y (B) 12ad

LC}* 15 m (D) 209%

(E) wﬁﬁw

A sum of ¥ 15,66?) is invested on compound

«;Mnterest for3 yearsfiff the rate of interest for three
successive years arejl0%, 8% and 5% per annum
respectively, then What will it amount to?
T 15,000 Y 4RI 3 I9T F fow TwRale s T
v & st 1 afe AR 3 AWt & o s
T 10%, 82 mﬁt‘s%srﬁasfa A i st F a1

MERUNER] 's’ﬂﬁ‘?m ,

(A) T 18,000 ¢v) (B) 18,582
18,711 © (D) 18,920

)’\
‘ :}?;, (E) Question no{jattempted / ITFANE 9

Y\Accordmg to Minéral production in Rajasthan

during 2023-24, Rajasthan is the main mineral
producer in the couptry for:

Choose the most[approprmte answer from the
options given below!

(A) Lead and Zl[“}g Ore

(B) Verrmcuhte 1

(C) Sillimanite (N

(D) Diamond -

(E)  Question not attempted

e WA I 2023- 24%aqng‘mmﬁ
™ @ﬁﬁﬁ@g@m

2L

67

68

"’ Bhilwara city of Rajasthan is known for

Choose the most appmprigg answer from {
options given below: :};
(A) Gold and Silver prodgttion
*(B) . Cement Industry :;
(C) City of textiles and logms
(D) Lead and Zinc production
(E)  Question not attempted,
o o fierargr e __ LT & faw S S
SR s
et et & & watfiies suge S
(A) @ aﬁrmﬁ%wg
(B) e sEm &
(D) o 3R fsfeh Icure ey |
(E) Saf@ys Lj
¥}

€N
What is the smallest five dig]t number which 15

exactly divisible by 16, 20 anH 249
g st B T S FET T 16, 20 3 24 F

quiq: farTsa &: i
(A) 10160, ®) "hosoo :L
S 1" i ge M
100 100
ol ApFemo, ©
(E) Question not attemp} ec) / mﬁﬁ Iy
1**5

. : N
Determine the maximum possible length of the
planks that can be cut from three pieces of timber

'mcas.uring 4.2 m, 4.9 mand 6.3 m, all of which

0¥
should be of equal length. P

H@?ﬁ & arfereman Wmisfm #ifsrg, al
427, 4.9, aﬂrmn"raiﬁw%a‘hg@aﬁf

: e f g farapedl; ﬁ;@f mrﬁsmm-m:ﬁ
(4) mmaﬁ A\ T e 3 a3 e S |
®) e R\ O
© ffE o, N (A) 42cm @) (B) ¢=56 cm (¥H])
i (D) SrEHS/E © 63em(@) (D) 70 cm ()
3 (E) Fgaf@ s (E) Question not attempted / SFTARA T
_ oPQX12 14 [ Contd-
Bl QX2] 3 httpsHtrmelOmeligital sy 1.
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. ; < ;ontains
& 70 How many numbers from 450 to 600 are exuetly | 73 Which of the following animal product 0'01;‘
div ‘Nbl? by 12,15 and 20? the highest amount (% nutrients) of protéin ho
) (A)  Four (B)  Three Choose the most appropriate answer from
R (€©)  Two : (D)  One options given below:
\; & (E)  Question not :\u‘emptcd (A)  Milk (Cow) (B) Egg
%y . 450 600 7% Rl e 12, 15 3 20 2 gk (©) Fish (D) Meat
B ‘;;;IW%’ (B)  Question not attempted
W) W PRt i 2 R gy e it s oy AR
o) @ HTAT (% W ey el
T (B) rgaiaws m&m&mifﬂwﬂbmammﬁ%‘
71, Two years ago, the average age of A, B and C (A) g (T (B 3t
was 24 years. 7 years ago, the average age of B (©) woeh L/(D)/) st (1)
and C was 25 years. What is the present age of A? (E) g
(A) 16 years (B) 20 years ‘
(C) 24 years D) 14 years 74 Which of the following animal product contains
\ (E)  Question not attempted the highest amount (% of nutrients) of fat?
o AT YR A, BAUTC Y ol 3R] 24 T o 7 Choose the most apprapriate answer from the
YD) i i .
P "y,\'{ ¥ Ura B 3k C N AR 25 a8 ol A ) options ‘glvcn below: ‘
h/')-\7:./ WWW%‘? . (A) Fish (B) Milk (Clow)
PNV ‘/ﬂl/z‘oaﬁ ©) Egg (D) Meat
1 VoL ©) 247% D) 1478 (E)  Question not attempted
2 7 N | Frefeafea % % frm v 3o # awr $ watfs
HEAT (Yo WY ) Belt {7
) l.,“: 72 T\’hic‘h‘ f:‘ ll‘lc. 1~ollmving t)"pc of‘. unimnl‘ is WMWﬁﬁmmmﬂﬁ:
(A';’:L suggested minimum  floor space for housing (A) Wl (B) ()
»” purpose? (©) 3fwr wlg (e
Choose the most appropriate answer from the (E) :gﬂaf(ag:g
options given below:
(A) Heifers 75 Who among the following is givcn the credit
(B) Down Calvers taking Kishangarh style of painting to its zcmth?r
(C) Adult Cows Choose the most appropriate angwer from th
(D)  Adult Buffaloes options given below: ¢
(E) Ques‘tion not attempted (A) Mool Chand  (B) Chandan Singh
Frfefias & & o wehr 3 w3 o smmama waem (€)  UdaySingh (D)  Nihal Cpgy q
%@-‘*‘{;IHW BEESIEEIRIEIC] fea mar &2 (E)  Question not attempted
frefefiaa faeredt # @ e sugw o g forvrme feeraren dreft @Y sud W
(A)_ i ) @ A e i oy R s ¥
,/63{@‘1%3@% (EAFA) (1 Ll’,\ frmferfae Rt ﬁitmffim:m-gmm
©) TRy o (A) TR (B) Ry | O
[
D) Tw=wdw o ) (C) 3w fife mw
(E)  oTufa wf Uﬁ‘ \ (B)  argaf s 0 :
OPQ-X12 | ‘ 15 ‘
LY [Conyg,
4 .

. rontalctrich .
I 1 3 . 4@ ] \JLUU)’



https://www.geniusjankari.com

" According to the National Research Centre for

76 Who has written ‘Baataan Ri Phulwari’ | 78
: ; 4 )
(Collection of Rajasthan folk tales) Camels, tl-le camel health an marfa:s,?mer‘n
3 calendar, which of the following activities is
Choogpythe most appropriate answer from the proposed for the month of August?
optioh§*given below: Choose the most appropriate answer from the
f;() . options given below: f ‘
&) iﬂ g ol (A) Investigation of camel sa'_fpp]e for
(B) f‘\ﬁalchand Tiwari " . endoparasites trypanosome. -,
' tion for Killi
(C) (Vijaydan Detha (B? Vaccination and medica ion A r ing
> - _ endoparasites. 0
(D) Laxmi Kumari (C) ~ Soil management of shelters and
(%uestion not attempted numbering of camels for .identitc'tication. ;
i : 5 (D) Hair trimming, vaccination and.spray o
W{g 1 W) chemicals. o
WW%@ UERY, (E)  Question not attempted o0
PSSP i : T 32 SITHUM &5 o AT, Sz e ol
v & wraifa suge S L e Sretet i s W o forg Fefad §
(&) e P TRRf TR AT
(B) WIeTe= framt iﬁﬁ%@ﬁﬁmﬁ%mmwaﬁ
: (A) %ﬁﬁqmm%%ﬁm%mﬁ\
LA Gk S
(D) r«a&#‘r@"qrﬁ ®) = mﬁﬁaﬁmﬁ%maﬂmaﬁr
-B'H'flﬁﬁ ST
E) vy 24 (©) m@ﬁwwaﬁwﬁﬂ%mﬁm
h T&HTRAI
- :
77  Nanie'the animal who breathes through its skin: , STt T WWW%@‘WHI
P “(E) AR wH i
Ch th t jat o
oose'the most appropriate’atsyer, from the 79 Whl'ch of the following are the internal parasites
options given below: in farm animals?
(A) i‘;&o“key a. Round-worms b.  Fleas M
(B ci Tapeworm d. Mites P?ﬁ
®) Fnarthworm e. Coccidia e s}
(C) (Elephant Choose the most appropriate answer ‘xfrom the
C options given below:
D éa 1
® 3 2 (A) b,canddonly (B) ab and d only
(E) ‘Question not attempted (©) candeonly (D) ac¢ and 1 e only
EEERE 719 FA1EY S AT =T Y g o 2 (E) Question not attempted
e , ﬁmﬁﬁaﬁﬁ‘ﬁﬁqﬁqﬂﬁaﬁaﬁ%mﬁiﬁwﬁﬁ
frefefae fereredl 5 4 aifers Juge o 3 ‘
) 3 N O
(%aan c.  RmrEfy d. fererl ("l'%f{“)
et .. wifEn s
© ‘Jﬂ,‘%ﬁ R e @ 317?1?5‘33?“3'3
Lt o “(A) FEeb, c3d et a, b3 d
(D) ;
e (©). ¥aetcaiNe (D) Faeta, .3 e
(E) aaﬁ.ﬂﬁ- g%- (E) amﬁ.a.u g%r ‘ et
OPQ-X12 16 [ Contd...
] * talctiichys

tar St c
bi |
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" The hormone that
80 e lSthat regulates the blood sugar level Who travelled through the villages (;::l?gaya
(A) Adrenalin (B)  Insulin sind ataried il scclesMAela I;Q::ht:f RZJaSthan
(C). Thyroxin D) Testosteron based on the rural life and so ay swer from the
(E)  Question not attempted Choose the most approp nate }n
| 2R I F T 3 'Fc‘i'( Y @?{ 2N options given below: g;;;
e e e (A) * Pt. Vishwa Mohan Bha:ﬁ
. (™
(C) gt (D) .‘hq ) Iagjit:Singn :
(E) SEaRay N - (D) Karpur Chand Kulish
(o (E)  Question not attempted( ¥
81  The examples of connective tissues are: ot arsreerr 3 el o yysor fem <t mﬁ%
a.. Blood b.  Boney Swfor Sfieet e T e sty saen A @
c.  Epithelium d.  Cardifc muscle T 7% =
Choose the most appropriate algg\?ver from the ﬁwﬁr&ﬁﬁmﬁ%wﬁ%mmﬂﬁ
options given below: {:\z _ A d g AT g i i
(A) aandb only (B) a,bundc only (B) i & wd
(©) a,banddonly (D) b, c%md d only (C) vfafee
(E) Questlon not attempted (D) %WE"%ST £y
{3
:' W z :S;; 84 1(1}1 19t49Uwho became the Chln;:‘f Minister of the
A2 o e et 8 s g e g Choose the most sppropmtul
(A) Fadasb  (B) av_‘ﬁrfa b3 options given bel0wppmpmnl“e‘:'fln e e
/(f))/ 9 a, ;:Tﬁt d (D) av‘«ﬁr b c3ftd (A) Hira Lal Shastri(B)  Shobha Rag
aq:iai‘{a m} (C) Brij Bhushan D) Sewa Ram
82 What is the percentage of oxygen and carbon (E) ~ Question not attempted |
dioxide in air inhaled by a human being? 1549 ﬁwwwa‘waﬁ?ﬁ?
Choose the most appropriate ansxirver from the et ;iﬁ
options given below: r\ MWW (B) mtrq
(A)  16.4% and 4.4% respectivels; T (D) ﬁaﬂm &
(B) 4.4%and 16.4% respectxvely (E) 3 e &
(C) 21% and 0.04% respectiveli{} 85  Nature of magnesium hydroxide ; is:
(D)  0.04% and 21% respectively, Choose the most approprmte answer fi
(E)  Question not attempted options given below; fom the
T T st oft T el AT i i i (A)  Acidic (B) gzsic
W TTgeiaTTEE %1 wfaeTd FT EETe? (C)  Salty (D) Nutra)
ﬁ-qﬁ:{;@a el o § @atfas 3113;53{{( 3—} (E) Question not attempted - ¥ " 2 o¥iv ¥
yw 16.4% 3hC44% Wmﬁmﬁfﬁi T el
T 4.4% HT164% 5 mﬁmﬁ&mﬁ*%
(©) T 21% 3K 0.04% r 4 (A) it —BY &Trﬁ'q wiﬁ
- D) W 0.04% 3 21% O (€) wfi (D) Ry
(E) et et Lo} - (B) oruf@ws N
OPQ-x12 | e ' 17 [
Coht d

E .'.
‘. . routaloctiich .
] T " . tarStacy |
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86

87

The process of depositing a layer of zinc on iron

is called:
(A) Crystallisation (B) Galvanisation
(©) Rusting (D) Neutralisation
(E) Question not attempted
dRWNE RN g R gr R afrmar
FEd 8l | '
(A) Trecfor  (B)  aweemw
ST T (D)  SrHHTERT
(B) Tl o

Which of the following metal melts even when
kept on a palm due to its low melting point?
Choose the most appropriate answer from the

options given below:

(A) Calcium (B) Gallium

(C) Magnesium (D) Mercury

(E) Question not attempted

Freffiae § & et w1g 39 Fe TomTE
10T Bt 9t TEn W o forere et 2

Frefefiae faepedt & & wratfie suge S
(A)  Hfewad (B) fermm

()  efifrm By I o)

(E) <gaiayyd

Which of the following is the most ductile metal?

89

90

Which movement was led by Sadhu Sitarap,

Das?

Choose the most appropriate answer from the

options given below:

(A) Bijolia (B)

(C) Bhagat (D)

(E) Question not attempted

ey W < Y R Tt b Aqed fopa

e fered! § & waifaes I9gw I
g fifer (B) m

(C) W (D) 3TEEET ‘

(E) gaRa s

Shekhawati

Non-cooperation

In which phase were Alwar, Dholpur, Bharatpur
and Karauli merged into Greater Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Fifth (B) Second
(C) Third (D) Fourth
(E) Question not attempted

oy =reoT 8 SFefer, eTgy, SRaqt 3R el it 787
TS H fore gem
fafafea freeat § @ waifaes Iugs Saa:

\/QA’( Yo (B) fedfim
© T (D) =g
(E) orgaRasd

91  Where is the Jawai Dam situated in Rajasthan?
>  Choose the most appropriate answer from the ;
Vg Choose the most appropriate answer from the
/ options given below: .
/ - " options given below:
(A) C'Opper (B) Aluminjum (A) Pali ®) Jaipur
(©) Szlver' (D) Gold ©) Kot (D) Sikar
5 Questi?na;;tgtemipﬁted (E) Question not attempted
Frefefan faredt & @ waifem 3ugem sa: referfia femedl # & watfre Suge SHCE:
AL “_le ,\y‘ﬁ:‘" " (©) T (D) i
(E) rgafe 4 (B) orERawH
OPQ-X12 ] * 18 [ Contd...
httpsHtmelOmedigtalstuely -
| 1 2R tarstoay ]
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92 Accordmg to the CCWS of 2011 which of the
following districts hagthe highest pOPU[.ﬂl()n in

Rajasth:m? 0

Choose the most ap[‘;;‘%prmtc answer from the

options given below: .4

(A) Bikaner {B) Sikar
(C) Jaipur D) Pali
(E)  Question not attempted
7011£rwwmé:mga]rwwﬁ%ﬁqﬁﬁ%g
ESEIERGISIGEIE chy
ﬁﬂ%{%ﬁﬁmﬁﬁ‘ﬁ#&mmmaﬁ
@ FR by s
e A ) e
(B) i@ s ¢y

<

93  According to the census of 2011 which of the

following districts of Rajasthan had the lowest
rural sex ratio? W‘

Choose the most aprpropnate answer from the"

options given belowgvﬁ

(A) Pali &(B)  Sikar
(C) Jalore ZYD) Dholpur
(E)  Question not attempted

2011@@:{1%%%%%&@%&
ﬁammﬁw%vmww
ﬁq%f@ﬁ%m‘rﬁ@wﬂ‘wmmaﬁ

®) weh B s
© 5@ oy e

® iz O )

r"i

J

: :
4 Where 1s the Ramsag%r wl]dlnf‘e sanctuary located
in Rajasthan? .

Choose the' mosy appropriate answer from the
Options giyen, below: ¢y
(A)  Bung l‘(B) Dholpur
©)  Chury (P) Ajmer
(E) Question not d\lcgllplcd
TR Toorsfig SR TS W el feua &2
‘:quaf@a meﬂﬁ
A) “@E‘T
©
(E) Cﬂﬁﬁ-ﬂ
e
OPQ-Xlz]

S

95

96

or‘rect
is not ©
Which of the following stalcm(qs

,im?n?
about the Palash forest in Raja: iswer from the
we
Choose the most appr ”l’"ale' .s

options given below: b

(A) These forests are %prcad jin those€
where the surface is ston§-and hflf d.

(B) These forests are found only 10
region of Rajasthan.

(C) These forests are spreaq’m Alwar, Ajmer,
Sirohi, Udaipur, Pali %ﬂd Chittorgarh

regions.

eas

plateau

h
(D)  These forests are sub-types of tropical/dry

o
deciduous forests. &

e
(E)  Question not attempted =

Wﬁmm%mﬁﬁﬁwﬁ%aﬁq-mm
EREHEY

ﬁw%%ﬁﬂﬁ%waf@wmwﬂ

(A) Wmm%ﬁﬁ%é%ﬁamma
TR B

(B) Haatrrlmm%%ﬂaméa&@aﬁ%l
(C) ﬁwwmﬁﬁﬁ%mq@ﬁaﬁ;

3 &A1 3 ey
T& T INH A oy g5y x>
IU-THT & a8
(E) orgafmusy f;

£
Which of the following river m‘k
associated with the Bay ofT]
system?

aJaSthan 1S not
ﬂBengal drainage

r"“i
Choose the maost appropriate answer
options given below: oM the

(A) = Chambal (B)
(C) Banas (D)

(E)  Question not attempted ¢4
TSTEIT ¥ F o R ey ey m‘rra
& A waifir i 2 & ﬁ@@,%
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97

98

“Talab-e-Shahi’ lake is located in which of the

following regions of Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Udaipur

(B) Kota

(C) Jaipur

(D) Dholpur

(E) Question not attempted

fefafaa & 8 5 & 9 Tseum &t qraE-T-
freffaa foeredi § & waifere ugw soUH:

P

(B) e -
(C) AL
(D) HER
(E) rFaia s

Chambal Valley project is a joint venture of
which of the following states?

Choose the most appropriate answer from the
options given below:

(A)
(B)

Rajasthan and Gujarat
Haryana and Rajasthan

99

100

- In Rajasthan, Bisalpur project is located in which :

of the following areas?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E) Question not attempted‘ g

v e afsrT frferfiad 4 4 o e
i fRera 82

3 R e et 8 & 397 I

(a) e

Bikaner’
Tonk
Jaisalmer

Udaipur

(C) ST
(D) 3ZAE
(E) AJaRd 9

Which of the following National Highways pasS
through Rajasthan state? :

Choose the most appropriate answer from the

options given below: ; -
v
. . %
(A) National Highway no. 11 \?\ AN
(B) National Highway no. 13 ) (\;D'
/

(C) National Highway no. 2

(C) Madhya Pradesh and Rajasthan
(D) Madhya Pradesh and Gujarat (D). I\{ational Highway no. 37
(E) Question not attempted (E) Question not attempted
<.t A Pt # & e asdt @ i 8 - TS TS TSFe 9§
e 3 87 R T 7
Forepredl 3 & wartferes 3ug S I ﬁmﬁﬁwﬁ%mmgﬁ
) Trredr ST ‘/M( TSRy T HEAT - | \c"’
(B) ghrom T TEEIH (B) U TSI HEAT - 13 _‘t‘*} ;
(C) Fer R STy \ ©) U EET-2 Vv ?ﬁ
(D) e waur ST (D) TS TSTAT HEA - 37
E) SHARA T | @ oErEE Q‘F 5 @/
OPQ-X12] 20 & ontd...
' i httpsH#-mefOmeligital sty %\ ,?;,M .
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s : ) . ll L ted on
101 Eight friends collected money 1o tielp 'ficialy

1ebra
{ 104 The First National Space day was$ te
victims. Six of them brought ¥ 30 each. The

’ from t
seventh person brought ¥ 10 more than the Choosc the most appropriate ansWer
average of eight persons and the eighth person options given below:

brought T 550. What is the tota] Sum brought by (A) 20" August 2024
them? ° ' ' (B) 237 August 2024
TS s ey I |y S s
7 ¥ BT X300 3% 1t ) v e s | -

. (E)  Question not attempted o
=afRal & e & T 100 =it @ 3fit sqrag o U St feam aﬁmm’%ﬁ
=t I 550 S et ettt Tt s oy o - \&fﬁnﬁ—rﬁaﬁﬁaﬂ—cﬁﬁaaﬁ%w\gﬁm :
(A) 3400 (B) 2500 %ﬂ,\f‘x w (A) 20 37R 2024
| < 2800 @) T2400 4o, %/(B‘)’ 23 ITTET 2024
"/(!E) Question not attempted / X ERILGH < T () =27 2024
m
‘ N o LGB Wl D) 312024
0 -
: 75&("5 Y(E) SreE W
102 A family consists of grandparents, parents ar?f/ o? ) :
: . | #1053 “Rashtriya Gokul Mission’ is associated with:
three grandchildren. The average age of the two Choose the most appropriate answer from the

grandparents is 66 years and that of the parents is options given below:

- 103

7
34 years. If the average age of the grandchildrens (A) Ministry of MSME . z",
is 8 years, then what is the average age (in years) ~ (B) Ministryof Womenand Child Development
of the seven members of the family? (©)  Ministry of Fir??gce |
T IRER A <TeT -2, Arar- e st i e - et (D) Ministry of Fisheries, Animal Husbandry
’ and Dairying -« .
& @—ﬁ freq ang 66 aﬁ%aﬁt mﬁ (E) Question not attempted
gﬂvaangmaﬁ%mﬁqﬁ-ﬂﬁa‘r?ﬁaﬂwmg Wﬁ%wmm%ﬁ
ﬂ%,ﬁm%mmﬁﬁmm@ﬁf) ﬁﬂ%‘f@ﬂﬁﬁﬁ%?ﬁ%ﬁ;%wﬁ_
T 29 — \it ¢ (A) UHTHTH $Hled | h
a3 (B) 32 A ., ® 1l St o ¥t
: 23N> (© FewmwEm
©) 31 (D) 30 = ‘
. N gty ~~(D) IO WIS, T 3R 38 vy
(E)  Question not attempte 3’13“'&' ! E) STEfEaEE o o
The selling price of 12 apples is equal to the cost | 106 What is the least number which §h0uld be adde
. . to 2928 so that the resulting numbe, : .
Price of 15 apples. The profit percentage is: 'S exacy
: Samaedy |8 divisibleby3,4,5and62 < y
12 8t v ferprer sy 15 it 3 0 e O SIrer 2 L 2928ﬁﬁqvﬁm®mmsﬁ§tm
S e & - ohoml e 3, 4, 5 06 W R, T
(A 15% B) 20% WY (A) 2 B) 7
© v - 4
5 259 (D) 27% /"\% FMo) 8 B 12
(E) Question not attempted / Nﬁﬁﬁﬁ uq (E) Quesufm not attempted f %% N
OPq.x £yl 21 - [C o
el s A 75 g
{7 %7// i routalctiich .

\-/‘ 7' LIl . . Luuol.uuy I
G Cor -
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107 Who was the first woman from Rajasthan to be
arrested during th% A freedom movement in
" Rajasthan? [~
~ Choose the most a;’ ropriate answer from the
options given below;:in
Sita Devi-  *™1

(A)
. N
(B) Durgavati De\ﬁ:)
(C) Janki Devi Pandey .
(D) Anjna Devi Choudhary
(E) Question not attempted :

mmﬁmmaﬁm%amﬁr{wéﬁaﬁﬁ
rl%m@'-reﬂv

Wﬁﬁﬁﬁ%mﬁwmmgﬁ
a) " O
®) grhadRE
(C) <H&h! aft Ui
. 3o St <)
(E) Iy ;,;
I

108 Which constituent (ij:{:;Henna dye forms a red

colored compound £upon exposure to air or
(on]

S

sunlight?
Choose the most appropriate dnswer from the
options given betowf"“!

(A)
(B)
©)
(D)
(E) ,
fean is a1 #-|n mmmgmgja;ma;
T 7 11 9T AT t(u,?;r Hftrer s 29
frmfofan foaet i waffir sogem swogt,
() w7

(B) ﬁta“rﬁmm m

(D
(E) agaﬁﬁw

y [~
Quinone . m
Nephthoquinari¢
h
v
Ammonium Chloride

Lawsone

Question not g:tzmpted

OPQ-X12 | ;*5 22

109 - Which of the following is not an example of

. physical change?
Choose the most appropriate answer from the -

options given belowﬁ)

(A) Cutting a pigeg of paper in four square
pieces (&)
(B) Making a piece ‘of chalk from chalk dust
(C) Changing thé" colour of the tips of hack-
saw blade on strong heating
(D) Formation of brownish layer on the iron
e ’/? gates of parksf

Question not attempted

ﬁni%fﬁaaﬁ%ﬁ-r qﬁ%mqﬁaﬁwm@m
e R =

'ﬁn%ﬁaaﬁaﬁq’rﬁ@aaf@ﬁammgﬁ

(A) m%@maﬁaﬂmz@ﬁ
SR I

(B) it €[S & HTeh T ZoheT SHMTI

(©) wm%maﬁﬁaﬁﬁwwﬂ
:hmzmtrraamn
I ¥ AR FEEE W q’{ a1 i WA &
T B

(E) iy o

Which of the foll?@ing statements is correct
about the alluvial s3il'in Rajasthan?

Choose the most qp}iropnate answer from the
options given below:

110

(A) This is found only in northern districts of
Rajasthan. ¥ " v
(B) This soil is very useful for the production
of wheat, mustard, cotton and tobacco.
, (C) ' This soil cbhtains enough quantity of

i nitrogen. ‘:53
. M The amountqof potash and lime is found
less in this sq:l ‘
(E) Question not attempted

Wﬁmw%aﬁﬁﬁmﬁ@aﬁ&aﬂw

FUT Tt ¥?

e Rt 3.3 watfires suges o g

(A) ww%mmﬁ@rﬁwwa

(B) dg N, {maﬁtm%m%

fgaga syl

(©) mwﬁmﬂmﬁmmw%

AT i e e e () e
el 21 :

(E)

RG]

[ Contd...

J routalctiich s d . i
1 3 . A \luuy . ; I
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111 - Which is not a type of bush foung in Rajasthan?

in¢
ot determi?

i on
114 Which of the following factors ¢
Choose the most appropriate answer from the the climate of Rajasthan? © from the
ions given below: - swe
opHons Kiven below \ Choose the most appropriate i
(A)  Fog (B)  Dhaman options given below:
(C) ‘Tena (D) Ama (A) Latitudinal position
(E)  Question not attempted (B)  Longitudinal position
I ST 3 A S ey W?ﬂ@mwﬁ (C) Wind direction
& (D) Distancc from the sea
Fferfaa faemed ﬁﬁmmmﬁ'} (E)  Question not attempted 21
W) B (®) freiffaa % Fe-a1 FEF TIEAH B 3'5'3"3
€) @ B srom Forertfea = aram? -
(B) orafa W Frefftan fraredt 3 & araifers Iugd 300 10
(A) Ireiefi feafa
112 In an election between two candidates, 20% (B) - ey feafa
voters did not cast their votes and 120 votes were Ta i fem
declared invalid. If the winner gets 75% of the (D) wEREA
valid votes and wins by a margin of 1800 votes, (E) srgafa s
then find the number of voters in the voting list.
Al Ificarl & e O AT i 20% FARTSH ¥ | 115 Which of the following National parks is situated
I e T BT 3R 120 e 33y wifia frw g in Rajasthan?
aﬁﬁﬁmaﬁéaaﬁz‘raﬂ 75% foretar & 3ftag 18600 Choose the most appropriate answer from the
&I 3 3 & S ST &, < Aaarar gt i wemaret options given below: o
— Ja : ™
i e 91 i ‘ P ;¢ o) Bandipur P £y &2
) n
(A) 4500 ® as0 o’ ‘L% o, ®) SantGhai \'\ ) ° o + .
0 AN aVen (C) Keoladev > / = P g
4650 (D) 468 " V% 6° \,\!:
. }| .
(E)  Question not attempted / Bil'flaﬂﬁ?r ECEECE (o @}D) Kaziranga D /
) \"" (E)  Question not attempted
113 On simple interest a certain sum becomes <9300 ;Fﬂ%liiﬁil ﬁﬁ -4 T 3311?%& ﬁqﬁ
_ ‘ einal
in 3 years and ¥ 10, 500 in 5 years. The principa
' ﬁmﬁﬁaﬁmﬁﬁnﬂmm <
sum (in ) is: m?ﬁ:
RIUTOT 1ot 92 e Fafrar TR 3 a0 4 T 9300 31 (A) IR
FHT 10. aftr @) &: (B) sy
SETH R 10,500 B It 21 < @ T X H) & S
A) 7000 B 7200 .
) @ 260 (D) &TSiom
7500 (D) _ () Hqafauy
(E)  Question not attempted / 3T 5
OPQ-x12] e e [Congq_
v \e S,
/‘ —

i ﬁﬁ;@ﬁ#t—me‘emd@*"'”' ey
A \JLUU)’

,(‘D
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116 In 1800 AD. the first person to call present

Rajasthan region Rajputana was

Choose ﬁ;e:mosr appropriate answer from the

options given below:

(A) Gedige Thomas(B) James Tod

(C) Hacken (D)  Allchin

(E) Quéstion not attempted

1800 51 TS F USETH = GSaHT F64 ardt

YA B

fr=tafaqtases § § Gaiide SUIw IR 9
/((A_{ E“a?%:g'ﬁﬁ' (B) =I=

© ¥ D) arE

(E) meiaws

™

117 Which of Ee following districts of Rajasthan had
the highestl"c’:lhjld sex ratio, according to the census
0f 20117 -

Choose the most appropriate answer from the

| options given below:
‘ (A) Jh%‘fg:war (B) Banswara
| (C) Jodhpur (D) Jaipur

(E) QuSstion not attempted

A O - .
2011 =1 G0 5 ST TS F Gdie a1
fermeaTa aTen e Frtarad § 9 F-a1 2

fretatad fawed § 4 Gaifies I9g® Satg:

(A) =R rHTST
. (©  FHER (D) AL
(E) Faraud
i

118 According-tb the census of 2011, which district
of Rajasthgg' has the hi gI;est urban literacy rate?
Choose tﬁ‘c’jmost appropriate answer from the
options given below:

(A) Udgjeur (B) Kota
(C) Bammer (D) Alwar
(E)  QuéStion not attempted

n‘ -
2011#1%?{“%%8%,“@:@@%

T Hregay 21 At e F-a1 9n
e fRe et 4 I7geH I H:
(A) TR ) @ '
(C) =Tt (D) e
(E) rgafaya
OPQ-X12 ] $ 24

httpsH-mefOmedigial study—
! . - o Scocy

119 Inwhich of the following years was the Rajasthan

State Road Transport Corporation (RSRTC)
established? ™
Choose the mos# dppropriafe answer from the
Q0
options given belgv.;:
Frerfafga 3 & Rrgad § Tsed™ T & INEe
-
ﬁnq(RSRTC)Wgéafrz
>
frfufaa fraedt i & waifis ITgm ST T
(A) 1955 (B) 1960
« (D) 1964
© 1962 ¢y @
(E) Question not attempted / aqgﬂfta' e
(en)

™M
120 Which of the following statements is incorrect
about genetic vaq?éons? '
Choose the mosf-appropriate answer from the
opﬁons> given below:
(A) Some am?_}xflt of variation is produced
even during-asexual reproduction.
The nmnbfe? of successful variations are

maximized3'by the process of sexual

®)

R -
reproducttg%
(C) Quite distifict variations are visible among
the individual which reproduce asexually.
(D) Variations{.\agising during the process of
reproductidn-can be inherited.
(E) Question n(é{?attempted

st R & Tt § frerferfa & &

HI-HT T A R?
Frefeafiae e & watfere g soc:
(A) T fafirmar arfies S & S oft 3=
Bt 21
Y weAr § gig T 2
(C) <0 st STelfiR S Y Wisham & S99 X €

it fafare Rl safif 2t &

(D) S I YRR % e B arelt fafierand
ST 8wt £

(E) uita ¥

-

[ Contd...
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ich
. whi¢
0
121 Which of the following statements are correct | 123  ‘Tamasha® is the famous folk thgaﬂ'e
about Mendel's Mon m/bnd crosses? o a
a.  Mendel Selecteg wild pea plant for his blace of' Rajasthan? ¢ aswer from th
experiments. (Y} Choose the maost appropr "";‘ZT
b.  Mendel studidd’ the inheritance of one options given below: '¢s)
character at a tfme : {Jdaipur
c. Mendel’s w orlis\%as neglected for about 35 ) Jaipur - ﬁ{}(ancr
el ’ (©) Kota (D) 2]\
")
d. Mendel used the word factor for gene. (E) Questionniore attcmptc(t wﬁﬁ[ 27
it o Wﬁeﬁﬁm
Choose the most appropriate answer from the e T ;3—21
options given below:{™ ﬁqﬁmﬁmﬁﬁ msfﬁ????"ﬂ"; XS
| Eg a,b an?1 ; on:y{f‘jCiB) b, c and d only O TR . (B) Ry
C an only= '
a, can YD) bandconly ©) @ (D) FTFEAR
(E)  Question not attempted A (&)
ﬁ%ﬁ%wwm’fﬁ%aﬁﬁﬁmﬁf@ﬁﬁ% () e -l
T kit i 3
el Ed %TE I A (dizes | 124 Match List-T with List-II ¢ =
o) 3 T <Y S List-I List-II

b. ﬁ%ﬁ#@aﬂﬁ@mﬁmw

o
Type of Fort/Dur ame of Fort/Durg)
e T 9m % (Typ e N r~

- e w5 B FFT‘FT 35 guT 9% SR @ a. Dhanvan Durg 1. (Bharatpur Fort
o - ; b. Van Durg IL é:ﬁi'uttor Fort
d. Ueddd=SH i;gq e I158 T ITFIT Tk c.  Airan Fort III. +Siwana Fort
-9l s d. | Parikh Durg, . v C.!msalmer Fo
. - IV It
e 1R ek IUGh SALIA:
e o 7o foreret & & waifares 39g 3 gaﬂ%maa?ﬁnmﬁm?ﬁﬁq
(A) acia,b3Me~(B) b, c3Md 7
¥acTa, c ATP~(D) FaAbMc ~ w1 STE-I
(E) eafa@ys WO (et 7 TwR) C(RRe T A,
A i 08
122 The character which’does not express itself in Fl a Erf I (,}E(aq{ %ET
generation is called-*~ f b. iﬁﬁﬁgm%
7y :
(A) Dominant character c f ;ﬁ;?ﬂm%
(B) Recessive character ’ d. Mﬁlﬁn

(C)  Allelomorph

(D) Contrasting cHaracter
(E)  Question not zit;empted
TS, tﬁ#‘rmézfaﬁarﬁm?ﬁqﬁm% ar ﬁmmﬁmaamﬁ@mwﬁ
FEAT 2- (A) a-Lbellc-1,d- fgn\,. -

options given below: fﬂ

(A) T 2; e a-1V, bl - 11, d oy
—BT SET (O (€) a-1V,b- Il.L-lll,dg
(C) ucframrdh ,
D) a-lLb-ILc IV,d-1 %
©) fawtr A
E®) 311?1‘&631’;{ (E) uestion not attempted / %Eﬁ;
0PQ-x12 25
. | hitps:HrelOmelgital stuely ‘[C°“‘d-.
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S —

A S

A S .

125 The ratio of the present ages of Pand Qis 5: 7.1f 1 epoaetle WOSt appropriate answer fron, b
Q is 4 years older than P, then what will be the options given below: ?ﬁ : .;‘:
ratio of their ages afler 4 years? ' ﬁgﬁmq—ﬁﬁwﬁ? g h1 Y qm
P %It Q Y T 317 1 A 51 7 RIARQ, P ﬁqﬁyﬁmﬁwﬁftﬁmffﬁﬂfmﬁt)‘;ﬁmy :
B
¥ 4T FgrR, it 4 af a1g IR SATY T ST A (A) 2001 ED; e
' 2005
N LQ : : (E) Question not attempted / iﬂjﬂfm uq
(7‘4 (A) 3:4
5= < B) 8:11 ? N o~ ofr%n : 129' '1;he common drug for the treatment of coccidiosis
! ¢, 95 3
ﬁ‘-f\ s S S35 7 in cattle is:
& i (D) 4:5 : '7)5,;.., A Choose the most appropriate answer from the
9 . L) .
A \ (E) Question not attempted / a@aﬁﬁ LS - options given below: -
2 ' .~ (A) Gentamycin  (B) Kanamycin
/ o . '»2"(C) Dopsone (D) Chloroquine
i : A and B (
126 A sum of ¥ 2400 ;s divided between 2'1n is & Oyt atempted
such a way-that § of A’s share and 3 of B’s R & iR SR ¥ ¥ oo
share are equal. The share of B is: afmfr 2.
X 2400 't A 37 B 3 i< 3 e afer ST & e et & wrffirds Jage 3w
Awg—%w,B%%%@r%w%le%w (A SmmmERE (B)  FAmTERA
2 o © T By
noo VO (E) oFaRauy
(A) 960 \}4\‘_‘ /{s q}\r’ A " |
- o]
/B)/ <1440 ‘7\'*(,',‘ ? 5\; 130 Some frogs use which special plant’s pocket of
(C) 480 %, 7 . water for laying their eggs? }
(D) <800 Choose the most appropriate answer from the
(E)  Question not attempted / e 94 ‘ options given below:
(A) Kalanchoe pinnata
1d b bt‘ ted from each of B)  Cactus
subtracted from eg
127 What number should be ‘ | ©  Bromeliads
numbers 6, 8, 12 and 20, so that the resulting (D), Midagastarpsrininkis
numbers are in proportion? (E)  Question not attempted ,
6, 8, 12 3T 20 T 7 § F-HF Fr verg I @mma@réﬁ%mmmm%mﬁj,
aﬁmﬁaﬁuﬁmﬁmmﬁﬁz A T YT R {9 =
PR ﬁr:;ﬁ;fﬁq-a
A) 2 © yt \'\f"fa ’ S ﬁwcﬁﬁﬁmff&mmmﬁﬁ
w7 6'*,_4‘\") (’f;\ (A) Wﬁ:{m
¢ V) ? (B)  FFew N
© 3w ks Wt ©) sfrs
7
® 1 A By s it
(E) Question not attempted / 3TTARd T4 () orgafe wx
2 26 td
B o hitps:Htme/Omeligitalstuly kil by

W
e

128+ Dolly, the first cloned sheep'died in:
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131 Which one of, the following buffalo breeds is

mainly found at ngnlf Rearing Centre,
Jhalawar, Rajasthdn?

Ch?osc the most :gépmprlatc answer from the
options given belogyy
(A) Mehsana 1y (B)  Murrah
(©) Bhadawari ™1 (D) satrarapags
~(E)  Question no"‘tf;}tcmptcd
ﬁw%{f@aﬁﬁﬂﬂiﬁaﬁq-@ﬁwgmm%m
IS 3%, ST, TS, Troreer 3 uré et 27

Dag,

ﬁﬂ%ﬁmﬁmkﬁ?mmawgmmgﬁz
(A) WEmwnm e ik

©) wEl - Oy S

(B) ot

) Ul |
132 Which of the followjng is not an exotic breed of
cattle in India? €2

Choose the most appropriate answer from the
options given below:

(A) (B)
(©) (23 (D) Holstein-Friesian
(E)  Question n(}ééttémpted

Frafafea & & wia o @ RRwT £ Ry
T Tt &2

(7
Jersey I Brown Swiss

Kankrej

{3
" W

PRt foredl 3 8 wrarfferes sage s g:
(A) i (B) siaA faw
HHS () (D)  EreEA-TRRET

(B) rgafayusi™

Xy

133 Which one of th%:;’f:'ollowin‘g Italian honey bee

variety is associated with increase in yield of
honey? M

Choose the most iﬁ};propriate answer from the
options given below:

(A) A mellifera®™) (B) A. dorsata

(C) A cerana z.“ (D) A florae

(E)  Question nopaftempted
Fretfifia & & PRy
S & AfUF S f waifa &7
Freferflae fraved 5§ warffores 39gw S :
(A AR T By TR

©) w @ (D) T FIRI

(B) rqaf@wsy

OPQ-X12 ] 373

# F-dt wonfa

134

e

oy iy -k fresh
Which one of the following is 2

prawn? ™)
Choose the most iappropriate a0

€
swer from th

options given belo Y?)

(A)  Peneaus moppdon

(B)  Macrobrachlilm rosenbergii

(C) Catlacatla ::g

(D)  Apis melliferia

(E) Question not attempted ,

mﬁaﬁ{%mmmmm%?
P Rrapediitay gatfers suge SaC L
(A) &ﬁwﬁﬁéﬁ

(B) ﬂaﬁ;}r%wwzlﬁwﬁ

(©) mam?—g
oy afE e
© (B IgaRawy

™"
l:‘r»

135

27

I”]HBS “t me‘( )mdl gi'l-t\l ctrch ,
1 3 . 4@ ] \JLUU)’

Which of the following is not correct about
CARI-NIRBHEEK) |
Choose the most appropriate answer from the

options given belo&i

(A) Itisaresult of Indo-German collaboratigp
project. ™
B) Field evaluation d 1 i :
(B) o ax)o one in Rajasthay and
unjab. e
(C) Itis asinglé€oloured indigenous cp;
(D) This chicken is £ ‘oken.
is for
_ eq €8g ang Meat
production, &2
(E) Question not attempted
ﬁ:{f‘aﬁa?rfiﬁ"%sﬁ*ﬁ\ﬁw%aﬁﬁﬁq
. T 5 Al
[ e &2 o ‘
ﬁn%&qaﬁmﬁﬁ%mf&mmm 'l
(2] " Eﬁ:

(A) wm-m.ﬂmﬁw&zhwmmﬁ

(B) TSTEIT 3K Gt & 8 ety
u&@hargﬁ)%vﬁglﬂ%u %'

(D) _ e it afer siv e (i

(B) Sigafaww
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Which of the following statements is incorrect?

Choose the most appropriate answer from the

options given below:

(A) Mercury is a metal wliich is liquid at room
temperature.

(B)  Graphite isametal which is abad conductor
of electricity.

(©)  Sodium and potassium are soft metals and |
they can be easily cut with a knife.

(D) lodine is a non-metal but it is lustrous.

(E)  Question not attempted

Frferfes & & w-ar o e 2

Prefiafia et i & warifires sages s a:

(&) R T T T @ S R S AT R

7T et )

(B) ITEe Tk Tt oy ¥ S fa i g
<7
(C) wifemm iR dRftem o g ¥ ofit 38

e
mﬁﬁwﬁmmmﬁ
) S e sy & i 7 R A
2
(E) Igafayy

137

Which of the following is not an alloy?

Choose the most appropriate answer from the
options given below:

(A) Stainless steel

(B) Cadmium

(C) Bronze

(D) Brass

(E) Question not z.lttempt‘é‘(!ini
Freaferfia i & -4 o org e 2

frfaftad fasedl § 9 @aifire 3agw I FA:

(©) e G

(D) e (5TH)

(E) oTgafd
OPQ-X12] 3k

138 Match List-I with List-1I:
List-I

Reflection from L

o a polished or
shiny surface ;
b.  The term u.sed for II.  Concay, mlno,
an upright 1mage ,
of an object
c.  The mirror which IIIL Reglll_ar ’eﬂeéﬁ

always forms
same sized virtual
and laterally
inverted image

d. Mirror used in IV. Erect
solar cooker
and torch

-1 7 FA-11 o AT foredT =t
eI eI

a. TUHIHHRSRAT I GHAAET -
wRmA
Wﬁwa?h.\

d  WenFHeit, 1v. e
‘a?ffrm‘rrrﬁm ‘
S ST g
Choose the most appropriate answer frord tbﬂ'
Options given below: o
ﬁmmﬁm:}ammﬂé
(A) a-Lb-1v,c.mmg- 117"
B) a-1,b-m c-Ld-Tv A o
/(ef a-1I,b- IVc Ld-II o

(E) Questlon not attempted / mﬂﬁ H’H

28 L ontd.-';'b\,f,‘

talctiich s

A \JLUU)’
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139 Match List-I with List-I1 :
List-1 List-11
Ornaments Wearing Part
a. Thussi L Finger
N Borla II. Ear
C. Daamna III.  Neck
d. Jhaale IV. Head
T 1% e w=h 1o firem ifv
-1 -1
T T T ST
a.  gEf L et
b,  wNen . &.
c. QAT II. e
d. == v. fw

Choose the most appropriate answer from the
options given below: '

A few e foreredt & & warifires suges s :

(A) a-Lb-I,c-NI,d-1V
4By a-MLb-1V,c-Ld-II
(C) a-1V,b-T,c-Td-1I
D) a-Lb-1I,c-1I,d-1IV
(E)  Question not attempted / TR w51

141

\4
0%
s
de a
Which type of forests ar€ regard®

d
t an
jon of 10 re?

valuable as far as the conservat
wildlife resources are concerned? o the
Choose the most appropriate answer 1€
options given below:

(A)
(B)
©
(D)
(E)
i st ashr et s o SR
T I e T AT T 22

ﬁ—_,——===———

ﬁﬂ%ﬁaﬁmﬁﬁmf&mmmgﬁ

Protected forests
Unclassed forests-
Reserved forests
General forests

Question not attempted

sy g )

B) i o
(C) IfE a7 (Feiss Bi)
(D) WM
(B) STgHia s

140 ‘Mandana’ is a traditional folk art of : 142 Sériska Wildlife Sanctuary is Situiedi.
Choose the most appropriate answer from the )
. ] (A) West Bengal
options given below:
(A) Rajasthan (B) Assam
(B) Kerala (C) Kerala
()" %ed (D) Rajasthan
(D) Maharashtra . .
_ _ t
(E)  Question not attempted (E)  Ques 'on not attempted
AT Ueh T ek el &: [t TS Ny fRerg @
/Zywﬁmﬁ&mﬁaﬁmmaﬁ (A) ofém s
(B) IwmmdH
FA i ]
(C) IR By
(C) e i . %
(D) WENg #r ’_,(D)/ ST | 2
(BE) oFEiE wy (E) rgafta
orQ-xi2 ] * 29 [Q
. routaloctiich 2 ohtl‘:
, httpsHrnelOmdighal siudy —



https://www.geniusjankari.com

143  Which physiographic region of Rajasthan is
known as the *‘Hadoti Plateau’?
Choose the most appropriate answer from the

¢4
options n‘@cn below:
pons 3

(A) Aravalli region
(B) [ﬁiﬁ'}érn Plain region
© Sgu[h-Eastem Plateau region
(D) SEmi-Arid region
O
(E) Question not attempted
TS T -7 HiTiferes &9 Sl & Y31 &
p
o ar-?%ﬂm v

frafafagfased # @ affaes sugw s
(A) mug’sﬁésr

NCIRICiERIE ] .
Wqﬁwﬁé‘z’
(D) 33Tk &
(E) 333?’&?[9%

e

i..

144 The Pl;xfrjxi of Chhapan’ is located in which of the

following physiographic regions of Rajasthan?
.m»*
Choose Zth most appropriate answer from the

options cgiilen below:

(A) Aravalli region

(B) South-Eastern Plateau region
(C) Eastern Plain region

(D) \gié%tem Desert region

(E) Quéstion not attempted

g e T 3 Pt § &

Viitferes & # feud &7
ﬁq{%rﬁgﬁjﬁm?ﬁﬁnaffwwg?ﬁmgﬁ:

(A) Wéﬂ

(E)
OPQ-X12] %

30

145 . Which of the following statements is ot correct

about the desert soil in Rajasthan?

. Choose | the mos{app

options given belbw:
;%)ﬁsplaccd by vyinds. '

ropriate answer from the

(A) This soil 1
(B) This soil iFound in western Rajasthan.
. (C) It lacks in @ility and keeps more salinity,
(D) Itcan absofbiand hold the water much.
(E) Question not attempted
T m@ﬁd s % weter # frrfetaa 4 3
* e o 7{3°r %”

ﬁa—«q’fﬁawﬁe\mmmm
Vm{ aawqaw@mmmﬁ?ré?ﬁ%l
) a%‘nawm‘ri 7 qrft STt 2

© @ﬁmﬁmwmméﬂ%

Jpﬁ %qﬁaﬁmﬁmwﬁmaﬂtwm

gEdl el vy
: s . .
(E) SAaf@ws - '
AR

146 Goitre is caused txtﬁ}e to the deficiency of this
¥ .

" "element in our dief:}

~ Choose the mostcc?})propriate answer from the

‘options given below:

(A) Iron ™
(B) Iodine X}
(C) Calcium g;’
(D) Sodium ¥
R Y
(E)  Question notattempted
AT (TENTE) THI SRR & 34 e Y et & SO0
Brar &: ™
frafafea ﬁwz‘@ﬁ waifires suge I
(A) tIE M
B) IRER i
A i
C) FHfermm o
(D) wifeam &
(B) Irqufaws

[ Contduo

= routalctich s :
1 3 . A ol.uuy I



https://www.geniusjankari.com

omm¥’

."l. : ) A y N : a
W Which of the following is not o biodegradable | 149 Which of the following discases is not

waste material?
nicable disease?

Choose the most appropriate answer from the , or from q;c
options given below: < Choose the most nppmprlale answ

(A)  Meat (B)  Paint options given below:

(C)  Excreta (D) Leaves of plants (A) Chickenpox Vi ¥

(E)  Question not attempted

. (B)  Cholera
Frefftre 3 & ¥ Safehaolr saRe gan

T A (G Concer

mmmftﬂmmmqﬁ (D) Tuberculosis |

(A) Wi B Q:_r (E)  Question not attempted

€ "o ©) it Freferfa i @ @ dammwes T T &2

@) argafes | PRt e & raffires g ST
) feram e

148 Which of the following are not the possible

causes of AIDS? . (B) ??ﬂ(?ﬂém
a. Drinking impure water from wells and \)9)

ponds (D) ﬁ'&ﬁ«'ﬁ @‘ETWRTH)

b. By hugging the inflected person (I mgﬂ
c. By injection needle or blood transfusion
d. From infected mother to baby in the womb

Choose the most appropriate answer from the | 150 The number of Gold Medals won by .India in

options given below: , Paralympics 2024 held at Paris was:
(A) banddonly (B) aandbonly Choose the most appropriate answ er from P

t
(C) a,bandconly (D) canddonly e

options given below: -
(E)  Question not attempted

Frefefie i & 2y & g s e o el 89 e, AR 2024, T T e
a. @l i areEt @ S O e v . o, i of:

b, i e ) e mmmﬁﬁam%miﬁ .
c. YT oy g arear W e 2| A) 7 :

d. i ara & md i fargg A

A fow aru forpent i & wvarfferes Iwg I o

(A) Faabsfitde 1) Faadaslitd /‘ﬁ 13

©) ﬁﬁaa,baﬁtcy)/j_mcaﬁtd D) 6

(B) srgafa gy

() Question not attempted / 313?{1\3
OPQ-x12 e 31 e

: - ‘ LC
, httpsHmelOmdigitalstty————————— ~Ongg——

Al
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